o 193} 22 AABCO|A AC//DE°]1, BC9 8= Mol
gttt oADME €] W17t 10cm® & wf, ADBC ] ®o|E F-stofzt.
(&, ©9l= Asit)

A
D
> =
> =g 20

~&B )

DE // ACo|E& W7} t=0]7} Zo} ADAE = ADEC 0|22
OADME = ADME + ADAE = ADME + aDEC = ADMC
10(cm?)

BM = CMo|B2 @i} o7} Zof

ADBM = ADCM = 10(cm?)

2. aADBC = 2 x 10 = 20(cm?)




oS 13804 AC//DE, BC: CE = 2: 1°]1, AABC = 24cm? ¥
o, bABCD 9] Y o]&?

@ 30cm? @) 36cm? 3 40cm?

@ 48cm? ® 50cm?

~&B

AABC = 24cm? ©] 1L
% = 12(cm?)
AACD = AACE (- AC//DE, AC £ &%)

. OABCD = AABC + AACD = aABC + AACE

=24 + 12 = 36(cm?)

C:CE=2:1°E2 AACE = 24 x




3. o2 I1"olA AE//BD, ABCE = 40cm?, AODE = 10cm?, BD
7} DABCD ©] Hol & o 52 % ul, s0BD ¢] HolE Fatelet. (g,
T9l At

A

vV V¥
o
it

10

B ~

AE //BDo|2g WHiy} &o]7} Zoug AABD = AEDB
o714 AOBD = 55°]22 AOAB = AODE = 10(cm?)
DABCD = ABCD + AABD = aBCD + aBDE = ABCE =
40(cm?)

BD7} oABCD & o|GEstE=

%DABCD = ABCD = ABDE = AOBD + AODE = AOBD +
10(cm?)
4?0 = AOBD + 10

- AOBD = 10(cm?)




S AABC oA AD : DB = BE : EC =
CF:FA=3:10°|t)h AADF = 6cm? ¥
m, ADEF 9] Yo]& stoiet.

L
]

14 cm?

~&B ~

AADF = §AABF
1
= %X ZAABC
AABC = ?AADF = ? x 6 =32 (cm?)
ntzt7} 2] 2 ADBE = %AABC,
AFEC = iAABC
- 16

. _T _T _ 2
. ADEF = 16AABC— 16)(32—14:(cm)




5. o5 297 22 BPAHEF ABCD A DE : EC = 1: 3°]th
DABCD 9] Ho|7F 60 W, AADE + AFEC ] §o]& otojet.

A D F

vV V¥
0x
i

15

AADE 2} ABCEE= =o|= 31 @WHo] 1 : 30]|E 2 AADE :
ABCE =1:3

1

AADE = AACD x = %DABCD X 1

1
1+3
1
= §DABCD

ABCE = 3AADE = SDABCD
AF //BCo|B&
AFBC = ADBC = %DABCD

AFEC = AFBC - ABCE = (% = g) x OABCD = éDABCD

.. AADE + AFEC = iDABCD = i x 60 =15




>
w,

vV V¥
0x
i

160

~&B ~

AABF &} AAFC oA =o]7F 21l o] 2: 10]|E2 AABF :

AMAFC=2:1
2 2

AABF = X AABC = - x
142 3

x OABCD

MI»—l

= 80(cm?)

; 1
a7 A HFEH 0 2 ADFC = gABDC

1 1 1 1

= 20(cm?)
AAGD = %AACD = %DABCD = 60(cm?)

<. AABF + AFCG + AAGD = 80 + 20 + 60
= 160(cm?)




oha 17 2] WePAbHE ABCD oA AP $19] Ql9]e] & Q o] st
AQ: QP =3:4,0ABCD = 49cm? ¥ o], AQBC 2] Wol]& 5}
of 2},

QD, PD & 1°H

AAQD = ;AAPD

3 1
=7 X §|:|ABCD

3
= —oOABCD

14|:| C

3 21 %
= ﬁxélg— ?(Cm )

w2t AQBC €] HolE “oABCD - AAQD = % - % =

14(cm?) o|t}.

N =




8. T 19O BAAIY ABCDIA AC // EF ]2 aAED ©] o7}
20cm? 4 o, AACF ¢] §o]=?

A D
E
B T C
® 16cm? @ 18cm? 3)20cm?
@ 22c¢m? ® 24cm?

AB //DCo|E2 W T} 20|71 73, AAED = aAACE o]t}
AC//EF o|2& WHi} =o]7} 231, AACF = AACEO|t}.




ABCOA D, E, F=d¥E2: 124 A

H5H= o]tk AADF = 4cm? € o, ADEF F
o |ole?
D
8 32 46
@® §cm2 @ jch ® 501&12 B—— =5

AADF = gAFAB = 2 <1AABC) = 2AABC
3 3\3 9

n}xH7}7] 99 0 2 ABDE — ACEF — gAABC

wabA] ADEF — éAABC

199 AADF = 4cm? ©|BE2 AABC = 18 cm?
ADEF = 6 cm?




